Vacuum Pad Vacllllm

Vacuum pad - M series installation accessories - fixed installation type

Example:

. o .

@ bracket type @ Applicable pad ® Mounting thread ~ @ Connection port at suction cup
® Vacuum interface

M-P A 3 M12 - M4 - B
. o

specifications

(@ Vacuum cup bracket type

@ Applicable pad specifications Unit: mm
1 M-P1.5AF M-P2AF M-P3.5AF M-P4J
2 M-P2x4AF M-P3.5x7AF

M-P5AF M-P6AF M-P8AF M-P10AF M-P15AF M-P6J M-P8J
3 |M-P10J M-P15J M-P10AA M-P15AA M-P20AA M-P15BA M-P20BA
M-P5C M-P7C M-P10C M-P15C M-P20C

M-P20F M-P20BF M-P25F M-P30F M-P35F M-P40F M-P50F

4 M-P20J M-P25J M-P30J M-P35J M-P40J M-P50J M-P25BA
M-P30BA M-P30C M-P40C M-P60C

5 M-P60F M-P80F M-P95F M-P60J M-P70J M-P80J

6 M-P120F M-P150F M-P200F

7 M-P90C

@ Installation thread specification

Mounting thread

Mounting thread
Specifications M12x1 M14x1 M20x1 M24x2

@ Installation thread specification
Internal thread

Mounting thread

Specifications | Allinone | M4x0.7 | M6x1 | M10x1.5| M20x2
® Vacuum interface

" G4x2.5H B3 M3x0.5
i x2.5Hose
Quick B4 Mdx0.7
connector
6J D6x4Hose ) B5 M5x0.8
4B B4x2.5H B6 M6x1
x2.5Hose
Bamboo BO1 Rc1/8
shoot joint| 12
@6x4Hose B02 Rc1/4

GINIER

1-709



uuuuuuuuuuuuuuu




Vacuum Pad

1-711

trip thal Mounting Suction CUP! Viacuum
model s height thread connection interface L
B port
3 28 |M6X0.75| M4x0.7 M3x0.5 | 15
6 31.5 | M6X0.75| M4x0.7 M3x0.5 | 15
3 39 | M8x0.75| M4x0.7 M3x0.5 | 17
10 | 46.5 | M8x0.75| M4x0.7 M3x0.5 | 17
15 58 | M8x0.75 M4x0.7 M3x0.5 | 24.5
) Total . )
model S| meignt M) connecton pert nteriace| -
3 38.5 | M8x0.75 M5x0.8 M5x0.8 | 17
10 47 M8x0.75 M5x0.8 M5x0.8 | 17
15 59 M8x0.75 M5x0.8 M5x0.8 | 24.5
3 38.5 | M8x0.75 M5x0.8 M5x0.8 | 17
10 47 M8x0.75 M5x0.8 M5x0.8 | 17
15 59 M8x0.75 M5x0.8 M5x0.8 | 24.5
; Total ) )
model 'S | et M read | comnecton pot | meriace| -
6 53.5 M14x1 M6x1 M5x0.8 | 17
™ | 15 62.5 | M14x1 M6x1 M5x0.8 | 17
30 99.5 | M14x1 M6x1 M5x0.8 | 24.5
6 53.5 | M14x1 M6x1 M5x0.8 | 28
10 64.5 | M14x1 M6x1 M5x0.8 | 28
15 99.5 M14x1 M6x1 M5x0.8 | 50
s ]
ol
) Total } )
i S| height | e | commacton port intoace |
3 23.5 M5x0.8 - - 11.5
g 6 27.5 M5x0.8 © © 13.5
3 25 M5x0.8 - - 11.5
6 29 M5x0.8 - - 13.5

GINIER



Vacuum

Pad

M3x0.5

ﬂf trip Total Mounting| Vacuum
ne [ Ja niall model he'E?ht thread | interface | -
C B C
o075 -4 oo 3 37 | M6X0.75| M3x0.5 | 15
i - ] 6 40.5 | M6X0.75| M3x0.5 15
He |
wsost [ | 3 48 | M8x0.75| M3x0.5 | 17
| R 11 10 55.5 | M8x0.75 | M3x0.5 17
o j*” 15 67 | M8x0.75| M3x0.5 | 24.5
su B AA M5x0.8
22
- o
Fith=3 ‘ B3
| M508 M5x0.8
ﬁg
H12 ]3 H12 ]A
o trip Total Mounting | Vacuum
C J C ] model S heg}ht thread |interface L
M8x0.75
I vesors] | 3 | 555 | M8x0.75 | M5x0.8 | 17
@ 10 64 M8x0.75 | M5x0.8 | 17
WI 15 76 M8x0.75 | M5x0.8 | 24.5
‘ 3 55.5 | M8x0.75 | M5x0.8 | 17
MO8 | 10 64 | M8x0.75 | M5x0.8 | 17
o X 15 76 M8x0.75 | M5x0.8 | 24.5
11 \%:
o4
26
it ‘ =S
M5x0.8
| M508
[l
H12E :Iz;f H|2E ]Sf
o trip Total Mounting| Vacuum
C 37 C J model S hei|3ght thread interface L
weozs/| || veors/| | | 3 | 555 | M8x0.75 | M5x0.8 | 17
‘ o ‘ ‘ © 10 64 M8x0.75 | M5x0.8 17
ml » 15 76 M8x0.75 | M5x0.8 | 24.5
Lt Ll 3 | 555 | M8x0.75 | M5x0.8 | 17
{ I Nl i N 10 64 | M8x0.75 | M5x0.8 | 17
1 v, 1 . 15 76 | M8x0.75 | M5x0.8 | 24.5
‘ ‘YM” i ‘(MOS
1 ‘L | ‘L
[~ \M5x0.8 [~ \M5x08
ws | Bg
o M5x0.8 H10 I IMS"”
} Total .
[ E I J J model trip height Mounting| Vacuum L
s H19 S thread interface
H19 . & B
o [ ] ST 6 | 715 ] Miax1 [ M5x0.8 | 17
ot 15 | 805 | M14x1 | M5x0.8 | 17
Miaxi @ 30 117.5 | M14x1 M5x0.8 | 24.5
o 6 715 M14x1 M5x0.8 28
10 80.5 M14x1 M5x0.8 28
e | nol 15 1175 | M14x1 M5x0.8 50

GINIER

1-712









uuuuuuuuuuuuuuu

GINIER



